Worksheet: The Mole
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1. Calculate each of the following:

a. Number of Ag atoms in 0.200 mole of Ag :
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b. Number of C3Hg0 molecules in 0.750 mole of C3HgO
CASD o Ca gD ™ Lo 0uad’ * prole ol e GHO =l 52 x\O*>
‘Wl Cfis O Molecoles GGRD

c. Moles of Au in 2.88%102% atoms of Au
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2. Calculate each of the following:

a. Number of SOz molecules in 1.28 maoles SO»
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b. Moles of Fe in 5.22%*1022 atoms of Fe ' 2
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c. Moles of C2Hs0H in 8.50%10%¢ molecules of C2HsOH
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3. Amole of H20 and a mole of 02:
a. have the same mass
b. éontain.one molecule each
c. have amass of 1 g each

@contain the same number of molecules




4. One molecule of sulfur contains 8 sulfur atoms. Then one mole of sulfur molecules
will contain:
a. 8g of sulfur
8 moles of sulfur atoms
c. 6.02*10%3 sulfur atoms

d. 8 sulfur atoms

5. How many moles of oxygen atoms are there in 2 moles of KNO3?
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6. How many nitrogen atoms are in 3.7 moles (NH4)2504?
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